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QUESTION ONE COMPULSORY- 40 Marks

a) Compute the annual lease payment that a lessor will require if payments are in advance if the
purchase price of an asset is shs. 1000000, interest rate of 10 percent, five year lease period and

no residual value. (3marks)

b) Describe features that characterize financial lease. When is leasing considered a financing

option for corporate organizations. (6 marks)

C) Make brief notes on the following asset classes based on their risk —return profile and advice

a risk tolerant investor on the right portfolio of investments to pick.

i.  Mutual funds

—

iii.  Hedge Funds

iv.  Real estate Investment funds

i.  Private Equity Funds

(12 marks)

d) What does covariance measure? If two assets are said to have positive covariance, what does

it mean?

(3marks)

e) Explain, why doesn’t an estimated absolute covariance number tell the investor much about
the relationship between the returns on the two assets?

(3 marks)

f) If the risk-free rate of return is 6% and the return on the market portfolio is 8%, what is the

expected return on an asset having a Beta of 0.8, according to the CAPM?

(3marks)

g) How does a Capital Market Line, Security Market Line and Characteristic Line help an
investor make his/her decisions in the financial market?

QUESTION TWO

(10 marks)

(20 marks)

a) Refer to the following information on joint stock returns for stock 1, 2, and 3 in the table

Probability Return for stock
Stock 1 Stock 2 Stock 3
0.20 0.20 0.25 0.10
0.30 -0.05 0.10 0.05
0.25 0.10 0.05 0
0.25 0 -0.10 -0.05

If you must choose only two stocks to your investment portfolio, what would be your choice?
Present your arguments and calculations, to explain your decision.

(Smarks)

b) In terms of the Markowitz portfolio model, explain how an investor identifies his / her
optimal portfolio. What specific information does an investor need to identify optimal

portfolio?

(Smarks)



¢) Many of underlying assumptions of the CAPM are violated in some degree in “real

world”. Does that fact invalidate model’s calculations? Explain. (Smarks)
d) What does efficient market hypothesis explain (Smarks)
QUESTION THREE (20 marks)

Refer to the following observations for stock A and the market portfolio in the table:

Month Rate of return
Stock A Market portfolio
1 0.30 0.12
2 0.24 0.08
3 -0.04 -0.10
4 0.10 -0.02
5 0.06 0.08
6 0.10 0.07

a) Calculate the main statistic measures to explain the relationship between stock A and the

market portfolio:
i.  The sample covariance between rate of return for the stock A and the market.

(4 marks)
ii.  The sample Beta factor of stock A. (3 marks)

iii.  The sample correlation coefficient between the rates of return of the stock A and the
market. (5 marks)

iv.  The sample coefficient of determination associated with the stock A and the market.
(3marks)
b) Draw in the characteristic line of the stock A and give the interpretation — what does it
show for the investor? (Smarks)

QUESTION FOUR 20 marks

A company has decided to acquire a piece of equipment costing shs. 300000 for four years. The
equipment is expected to have no salvage value at the end and the company uses straight line
depreciation method on all its fixed assets. The company has two financing alternatives available,
leasing or borrowing. The loan has an interest rate of 15% requiring end of year installments to
be paid. The lease would be set at a level that will amortize the cost of equipment over the lease

period and would provide the lessor with 14% return on capital. The company’s tax rate is 30%.

i) Compute the annual lease payments (3marks)
ii) Compute the present value of the cash flows under lease financing (6marks)
iii) Calculate annual installment payments (3marks)



iv) Calculate the present value of the after tax cash flow under the loan

Alternative. (6marks)
Which alternative is recommended and why? (2marks)
QUESTION FIVE (20 MARKYS)

a) How similar and different is long term debt from preferred stock from a corporate
financing perspective (8marks)

b) A company is considering to raise debt capital amounting to Kshs. 100 million with a
floatation cost of shs. 300000 over the next 4 years. If the interest paid on long term debt

is 14 percent while that paid on short term debt is 10 percent per annum,

i) Determine the optimum issue size of debt for the company. (3marks)
ii) How many issues will be made for the total debt to be raised for a duration of
debt. (3marks)

iii) Calculate the total cost of raising debt for this company and show on a graph.
(3marks)
iv) What will be the total cost of raising debt if the issue size is below the optimal

size? Use a hypothetical issue size to illustrate. (3marks)
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